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For examiners

Part A - Grammar and Vocabulary

Complete the sentences given below by underlining _a, b, ¢, or d.

1 Vitamins may be either fat soluble ................ water soluble.
a) and c) in
b) or d) with

2) Digestion is the process in ......c.ce.... complex food molecules

are broken down into simpler molecules.

a) the c) which
b) an d) with
3) Oxygen is  vevvvvevernene vital importance to aerobic organisms in

any habitat.

a) a c) of
) an d) with
4) Early humans had relatively little impact on ...
environment.
a) there ¢) them
b their d) those
5) Natural deserts occur in both hot ... cold regions.
a) an c) and
b) or d) not
6) Disposal of domestic and industrial waste has ................ a very

large problem.
a) resulted c) become

b) ocCur d) developed
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7

)

9

10)

11)

12)

13)

The transport sector is responsible for  ................ of the air -

pollution in the country.
a) more c) most

b) little d) more than

The teacher instructed the students to cdrryout the experiment by

................

a) them c) themselves
b) theirselves d} itself
People living permanently in cold climates ............. certain

physiological adaptations.
a) shows c) show

b) showing d) showed

The practice of farming represents a major change in the
relationship ................ early people and their environment.

a) among c) with

b) between d) of

The immune system protects the body against invasion by foreign

material ................ protein which might be harmful to it.
a) called c) such as
b) like d) known as

v @ period of time, groups of individuals of a species

may become separated from each other.

a) For c) On

b) Over d) In

You will be coming tomorrow ................ ?

a) was you c) isn’t you
b) won’t you d) will you
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14)  Wet grasslands are ................ of a traditional farming system. -
a) part c) area
b) section d) subject
15)  The lecturer ................ by the end of thé month.
a) advised to the students to submit their project
b) advised the students to submit their project
c) adviced to the students to submit their project

d) adviced the students to submit their project

(15 marks)
Fill in the blanks in the following passage with suitable words. Use

only ONE word in each blank space.

Many forms of mining currently used including river sand mining, sea

coral mining and riverbed gem mining are environmentally damaging.

River sand is mined to (1)........covvinnins used in the building
industry. Current levels (2).................. extraction in inappropriate
locations have however led (3)...c..ocooiiiiiiiiin serious
environmental impacts. Sand mining (4)................... e damaged
river banks, deepened the rivers (5)............... increased coastal
erosion. Coastal erosion arises (6).................. river sand replaces
sand lost (7)..cccvnnnenn. the beach by receding wave action Sand
[€:) UTTTO by lowering the riverbed causes (9)..................
intrusion of sea water. Salt water intrusion upstream (10)..................
the dry season along the Kelani river (11).................. come upto the
water intake points (12).................. Colombo city at Ambatale and
along (13, Nilwala Ganga  which  affects
(14) s Matara town supply. In many other
) T in the Southern and Westem'Provinces, intruding

salt water enters irrigation systems destroying crops.
(15 marks)
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Part B - Writing

Instructions to carryout the following eiperiment is Igiven below.

Assume that you carried out the experiment and record it in Past

Passive verb form using relevant sequence markers.

Preparation of Sulphur Dioxide

2)
b)
c)
d)

iii)

Put sodium sulphite in a round bottomed flask.

Add hydrochloric acid through a thistle funnel.

Warm the flask to complete the reaction. '
Pass the gas through a wash bottle containing concentrated
sulphuric acid.

Collect the gas by downward delivery.
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4.

Study the diagram given below and

a) Name 5 equipment used

b) A description of the process using

i) the given words in present passive verb form

ii) relevant sequence markers

PREPARATION OF CHLORINE

. cbnoentrated:
hydrogchloric . -
acid s

chioring as collacted: -

- g
famantl

4. ! .__Im.ﬂ‘ngaheS.E:
S ET(IV) oxide

. . by downward'delivery
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I eere heeas f e et
e, TR e et e (put)

2 TP ereeneas PP e verereaa, .
..... OO PUPPPPPPROURIPRN ¢ s [« ||
OO
.................... ‘(heat)

4 L. Fe e e ettt ee et e e e et
4 e e e et et ettt e n e e r e et e (pass)
5 e PO e e
................................... PR (1411 (=Iw14)
{20 marks)

Answers should be written in complete sentences in your own words as
far as possible. Marks will be deducted for grammar and spelling
mistakes

Part C_- Reading

~ Read through the following passage and answer the questions given below.

Most hotels are located in coastal areas to enable tourists to enjoy

the sea, sand and coral reefs.
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11
12
13

However unplanned tourism development without provision for sewage
treatment and other environmental safeguards éontinue té damagé the
environment. This is illustrated by the comtrast between Bentota, which
is a planned tourist development and Negombo and Hikkaduwa where
tourism has developed with little pianning. A common waste treatment
plant is now planned for the Bentota resort hotels. The Government

of Japan has signed an Agreement to provide the infrastructure for

-coastal tourist hotels between Marawila and Galle. Planning for tourism

development also reduces the social conflicts between tourism
and other sectors. Fishermen in particular complain that their traditional

rights of access to and use of the beach are hindered by tourist hotels.

Questions

Why are most tourist hotels located in coastal area?

(02 marks)
a) As mentioned in the passage, how does planned tourism differ
from unplanned tourism?
(03 marks)
b) What are the examples given to illustrate this point?
(02 marks)
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Is this statement “True’ or ‘False’ 7

“Well planned tourism will benefit the society as a whole.”
Support youi' answer with a sentence from the passage.

(02 marks)

Why do fishermen complain about tourist hotels ?

(02 marks)

What do the following words refer to in the passage?
i) 'This in line 05
i) their in line 12

(02 marks)

Give a word / group of words which means the same as

i contrast in line 05
ii)  hindered in line 13

(02 marks)
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" Read through the following passage and answer the questions given

below.

Water pollution is becoming a major problem in certain urban
and agricultural areas. The quality of water in irrigation tanks and other

water bodies has been affected by the inflow of excess chemical fertilizer

which promotes eutrophication and algal growth. Beira Lake presents an
example of such eutrophication caused by algae thriving on the sewage
flowing into the lake. Pollution of water sources such as paddy fields

agricultural plots and plantations is difficult to control.

Faecal contamination of groundwater is reporied from many
districts, especially from densely populated urban areas and areas where
the layer of soil is thin. The recent rapid industrial development has
resulted in the release into the environment of untreated or inadequately
treated effluents and even solid wastes thrown into canals, streams, rivers
and other water bodies. Natural fluoride levels have been found te be
high in certain areas of the Central Province, posing a serious threat to

human health,

The pround water in nearly all urban areas is polluted and few
users boil or otherwise sterilize their drinking water. Many of the wells
are situated, close to toilets or are shallow with a relatively thin layer of
soil, which is inadequate to filter the harmful microorganisms. Typhoid
(enteric) fever and cholera are among the dangerous water borne
diseases. Stagnant pools of water provide breeding places for mosquitoes
which transmit malaria, filaria, dengue fever and encephalitis. The
rapidly increasing level of surface water pollution is a serious health
hazard. Poor storm water drainage systems in urban areas is an irritant
and a health hazard.
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3.

Questions

What is the main problem mentioned in Paragraph 01?

_ (01 mark)
a) Name the main reason for low water quality in tanks and
water bodies:
b) Give an example where this has happened?
(03 marks)

Which areas are more likely to face faecal contamination of water?

(02 marks) ..
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What are the bad effects on environment due to rapid industrialization in

the recent times?

(03 marks)

Give 2 reasons for ground water pollution in urban areas."

(02 marks)
Is this statement "True’ or "False’?
“People in urban areas are aware of health hazards caused by
polluted water.”
(01 mark)

Give a sentence from the passage to support your answer.

(02 marks)

Why is it dangerous to have stagnant pools of water?

(02 marks)
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What do the following words refer to in the passage?

a) which_in paragraph -01 line 04
b) which in paragraph 03 line 22

(02 marks)
Give another word / group of words which means the same as

i) excess in:Paragraph 01 line 03

i) densely in Paragraph 02 line 09

(02 marks)
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